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(510) 615-5566 opwecallcenter@oaklandnet.com

CITY OF OAKLAND
PUBLIC WORKS AGENCY
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Step 1- Select a Service Request Type EH - IR

What Type of Problem Is It? RIREHVER] 2

You can scroll through the complete list of senice request types, or use the keyword search
to narrow the choices. Then click the "Select” button next to your choice, to move to the next

step- (Al UBBEREIRE E S EEFEE - AlkiE B

Keyword: | H Keyword Search ” Complete List ]

Note: Use only ONE WORD in the Keyword Search.
Examples of keywords you can use: garbage, graffiti, pothole, tree, drain, light, sign
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report problems to

Public Works Agency
510.615.5566

www.oaklandpw.com
pwacallcenter @oaklandnet.com
noeiLe app: SeeClickFix
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* (510) 615-5566
* opwcallcenter@oaklandnet.com
* www.oaklandpw.com

* SeeClickFix
— B TE4E (Mobile Web)
—44E (Web: www.SeeClickFix.com)
—iPhone. Android & Blackberry

report problems to

Public Works Agency
510.615.5566

www.oaklandpw.com
pwacallcenter@oaklandnet.com
moeiLE apr: SeeClickFix
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